2RXS J020157.3+705433

gamm*bbdy

930402 0130

IR _
ram

- _
+

+

_i _

: ITITEN ITITEE T |||1_-
o 7 Y N
= = S =

(A93 s zwd)/suojoyd

I LR [TTTT T T T T T T 1]

[+

+

%

- +

o — (aV]

o | |

- (@) o
~— ~—

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

a o (o]
T 99
(= =] =1
< o ©
>~
© — -~
| | |
+

~— 8V [a2] — ™

T T T 99

[ =1 [ [ =1

[Ye] < o o~ ©

N © o © 9

™ 2V} — — [sp]

Il

o Il

-—

© — Il

S ] >

0 [ E

g, 2 = — o

n [c S -4 = -4

TTT[TTT[TTT[TTT[TTT
—

-

++HWHH / W |

RENEREEERARERENEE.

“ SRy

srenpisay

1.00

0.10

23

X%req = 2.646

Energy/keV



